Solution Guide:

A = sqrt(R Square)

B = sqrt(I)

C = 1 (single variable)

E = 49 (n-1, 50-1)

D = 48 (n-2, 50-2)

F = SST x R-square

G = SST – F (SST – SSR)

H = F/C
I = G/D
J = H/I
K = P-value of X-variable

L = B/sqrt(49x(sd_x)^2) OR slope/M
M = slope/L OR Sqrt of J (Sqrt(F-ratio))

N = SST/E
O = sqrt(N)
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Solution

Regression Statistics

Multiple R

0.456823955

STDEV(x)

11.92752809

R Square

0.208688126

Variance(y)

101768.6072

Standard Error

286.7201256

STDEV(y)

319.0119233

Observations

50

ANOVA

df

SS

MS

F

Significance F

Regression

1

1040657.094

1040657.094

12.6587637

0.000853606

Residual

48

3946004.659

82208.4304

Total

49

4986661.753

Coefficients

Standard Error

t Stat

P-value

Intercept

-127.539017

Not Relevant

Not Rel.

Not Rel.

X Variable 1

12.21814673

3.434074321

3.557915639

0.000853606


